_ (& =)
MEFE | IELL M B
i 1 100.0 KEE K=
HiE R 2 99.9
X Br FF 2 99.9
#mENNR 4 99.8
TR 5 99.7
BER 6 99.6
EER 6 99.6
BEER 8 99.3
I #B AT 9 99.2
BER 10 99.1
=E& 11 98.8
EHE 12 98.7
EFIIE 13 98.6
g MR 14 98.3 .
=RE 15 98.2 »7
= 15 98.2
#om R 17 98.0 y (B 4-96)
mAINIE 18 97.8
Eig 8 18 97.8 Il 98 ~ 100
W E | 20 97.4 ! W o6 ~ 98
A= 20 974 [] 94 ~ 96
EHRE |22 96.8 ] ~ o4
w2 22 96.8 ?
£ B — 96.6 ©
i & & 24 96.5
= g & 26 96.1
LR 26 96.1
BRER 28 96.0
BmHE 29 95.1
I B 12 30 94.9 ————m e — - - -
ERRE 31 94.1 I B B & 25 VAR
EE R 32 93.1 I !
e R 33 92.7 I 5 & & 96.4 % !
FER 34 92.6 ' :
ZWE |35 92.2 I 2@ 7 1 %%6.6 % |
B 4E 5 36 92.0 L e - - - :
AR 37 91.9
LER 38 91.6 — XHERET—4
o8 39 91.2
= M & 40 91.0 31 B B B 94.1 %
mER 41 90.5
=8 42 90.0 206 F W B 97.4 %
EF R 43 89.7
Ko B 44 88.6 38t K B B 91.6 %
TEE 45 87.9 .
xR 46 87.4 39 Ik A & 91.2 %
AR 47 83.2
=X iva — %
O H A % : BERKAOLKEHEZKE+ER/KE - AOKE (k)
O E B A : TA13E3A31H
O¥ # H Fr : EEFEATKERT (MR- EHR)




(B B 8)
BT #t I 5z M {E
KEERE B 1y - 983 *
i - 99.4 %
Emm™ 9 99.8
XFH | 13 99.6
BE&W | 16 99.4
EEH | 3 96.5
B E Y — 96.7 %
BEEFY - 98.7 Y%
= fF BT | 11 99.7
ExHE | 26 98.2
S B AR AT | 27 98.1
J\BEERF 15 - 954 Y
Bl 99~ 100 BRAET | 34 94.6
Bl 98~ 9 fin & BT | 37 83.4
] 97~ 98 A JR BT | 33 95.2
0~ 97 J\RE | 13 99.6
=BT | 32 95.7
F 3 ET 1 100.0
kA 1 100.0
ZGEMR | 35 94.5
[EANTFEY - 994
= 1 100.0
LR 4 LI BB ET | 23 98.9
EAHE | 16 99.4
HEEBT - 99.2
& 1 100.0
H=I ] 21 99.1
HENET | 18 99.2
—SHHET | 13 99.6
B & BT | 28 98.0
bt & BT | 22 99.0
KEHE | 18 99.2
(B 1:%) HHEET | 25 98.4
7= B ET 1 100.0
= zz ~ 9 PR - 993 ¥
A ET | 30 97.5
O o3~ %6 £ RE | 9 99.8
[ ~ BOAE | 29 9738
HEEHW 1 100.0
T BT | 11 99.7
X W BT 1 100.0
4% #0 Er 1 100.0
ol ET | 18 99.2
B &A1 — 82.9 ¥
HmHE | 39 66.2
B ¥ HE | 38 75.3
SLAFHET | 23 98.9
FEOHBE | 36 91.1
B — %

OQFEH A%

WEHRKAO-AO#E (X)

E: AKARIR EKE, B FKE ERKE BREKBIGRER DA E

O EF = :
O&F # H Fr:

FR13E3IA31H
SEUR T ET A #k EER (T ET AT 2 S RSN IR R )

— 123 —




